Assembly Manual

SKU:6153-2400W

—

1090*405*H15mm

1140*450*H15mm

&

M6 * L10mm hexagon socket head screw

e

M6 * L25mm hexagon screw

7

M8 * L30mm hexagon screw

N) i

o\
©)
J

M8 * L20mm round head hexagon screw

<"

~~"




Exploded View

=,

/ﬁ
L

—~—
I/
- —
>§;\

|
A\'f;%

(

step 1

(




step 2

step 3




dj‘ ﬁJI :I
| | |
— - —L
M 1T

==
UL & |
LU




COMPLETED DRAWING

=
=

M 17|

1N}

T 1T 11|
i 1]




